N I /
—n— ﬁ&l\ p @ Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:
3,073 x 100 = 5,084 x 100 =
7,77 x 1000 = 3,608 x 1000 =
1,83 x 100 = 8,307 x 1000 =
5,512 % 10 = 6,43 x 10 =
7,113 x 100 = 2,234 % 10 =
6,052 x 10 = 2,853 x 100 =
7,155 x 1000 = 5,964 x 10 =
9,236 x 1000 = 2,172 % 1000 =
10, 508 x 1000 = 3,259 x 1000 =
9,325 x 100 = 10,525 x 10 =
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NP ,‘\
_n—ls Multiplicera decimaler med 10,100,1000

namn: Datum: Poiing:
3,073 x 100 = 307.3 5,084 x 100 = 508.4
7,77 x 1000 = 7770 3, 608 x 1000 = 3608
1,83 x 100 = 183 8,307 x 1000 = 8307
5,512 x 10 =55.12 6,43 x 10 = 64.3
7,113 x 100 ="711.3 2,234 x 10 =22.34
6,052 x 10 = 60.52 2,853 x 100 = 285.3
7,155 x 1000 = 7155 5,964 x 10 = 59.64
9,236 x 1000 = 9236 2,172 x 1000 = 2172
10, 508 x 1000 = 10508 3,259 x 1000 = 3259
9,325 % 100 = 932.5 10,525 x 10 = 105.25
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